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Data Sufficiency ¢&Saro% :)mﬁ‘.gé

Note:In the following 20 questions each question is followed by data m the form of two statements labeled
as I and I You must decide whether the data given in the statements are sufficient to answer the
questions. Using the data make an appropriate choice from (1) to (4) as per the following guidelines:

a) Mark choice (1) if the statement I alone is sufficient to answer the question.

b) Mark choice (2) if the statement IT alone is sufficient to answer the question.

¢) Mark choice (3) if both the statements I and II are sufficient to answer the question but neither
statement alone 1s sufficient.

d) Mark (4) if both the statements I and II together are not sufficient to answer the question and
additional data is required.
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Sub questions

Question Number : 1 Question Id : 4969012 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



What is the rate of interest percent per annum?

RODB\TD3 .Dc;; Feho Doeh?

I.  The difference between the compound and simple interest on an amount of Rs,
1.15.500 1s Rs. 415.8 at the end of 2 years

B0t VoDBT"0 VDG (°.1,15,500 05 SN FArRy HE, BEICO B0 AF,
415.8

II.  The simple interest earned at the end of one year is Rs. 2420,

28 D0DE00 DG DD TRy oG 6. 2.420
Options :
1.¥1
2.% 2
3.% 3
4. % 4

Question Number : 2 Question Id : 4969013 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
What is the length of the train?

Dew PEDo0es?

1. The train takes 10 seconds to cross a bridge

w8 DoBD TredemdS e Gensd 10 D50 DEOHBV0H

II.  The train takes 30 seconds to cross a platform.

w8 reryOoad TrAS €3 Jens 30 D80 DEXE0H
Options :
1.# 1
2. %2
3.%3
4.4 4

Question Number : 3 Question Id : 4969014 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



What is the marked price of the table?

230 0INY), V5B DO Jod?

I.  The marked price of the table is 30% above its cost price. Two successive
discounts were given while selling the table.

20 aog). oy Do Sofd DEede e 30% e9fS0. £10A £9:.00) L))~ D Toc) O
= A 2 = 22y

TPOLIEHRL QTN

II.  The table was sold for Rs. 2,700. The percentage of discount given during the
second time is twice the percentage of discount given during first time

2V 6P, 2,700 £ ©ATLE. DG FB AW TN TS0 Todosden
DoGaTrd QN T7O0S TS0

Options :

1. % 1

2. % 2

3.%3

4.9 4

Question Number : 4 Question Id : 4969015 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What 1s the total number of girls in the class?

& SO0BS"D 20do LrhE Vo Joe?

1. Ratio of the number of boys to the number of girls in the class is 7:5

& OO0 §erens Doy, erdse Doagw DyG 7:5

II.  The average weight of girls in the class is 2 kg less than the average weight of
boys in the class. The average weight of all the students of that class is 45 kgs.

&5 E90(3365°) 2R DD B o8l erdde Dty ey 2 ST ej&‘ob.;j. <]

S003e5°D es0c3dy DoEjie it e 45 3.

Options :
1. %1
2. %2
3.%3
4.9 4

Question Number : 5 Question Id : 4969016 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Two persons A and B start running towards each other at the same tune from P and Q and
meet after 120 minutes, What is the speed of A?

QG H5EE0 A, B en 2,50 Py DFL0 25500e° W P,Q © od HONBE

Q0G0 120 IIEre Shars Se0RET) . A Drfo Joes?

I, Qis 35 ki away from P and speed of A is 120% of the speed of B.

P &ood Q@ 35 &.50 cirdoes” god o0dodn Ading) o B oangbérsoej" 120%

II.  Distance covered by Bis 15 km

B Doiredon)sy Gordo 15 3.80
Options :
1.¥1
2. 82
3. %3
4. % 4

Question Number : 6 Question Id : 4969017 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

By how many vears is Aswani younger than her brother Sanjay?

93D LT o Ho2od Sobs D) DoDSTRD DY B?

I.  The ratio of Aswani’s present age to that of Sanjay after 3 years 1s 7:9
930D DA DAV , 3 VODSBNTL SCEITSD VOB DAY Iy 7:9
II.  The ratio of Aswani’s age three years ago to Sanjay’s present age is 1:2

APED DODETR S50 093D HODHADY VOOR) IS DAV Dy 1:2
Options :
1. % 1
2.%2
3.3
4, % 4

Question Number : 7 Question Id : 4969018 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



How far and in which direction is point B with respect point A?

Doten A £ Dot B Does Gordioes” O &s‘%eﬁ‘ EENAY;

I.  Point G is 6m to the east of A, point C is 9m to the north of G, point F is 3m to the
west of C and point B is 6m away from F

Doay) G 6a0. GFrCoes” A L ArEND &) 6. Doy C 920, Grtoes’ G 3 &0
LD D) 6. Do F, 350, Grdoes” C £ s ALY €Y 6. Do) F
£ 6. Grdoes” Docen B &) 6.

II.  Point M is 8m to the west of B, point R is 8m to the south of M, Point A is 11m to
the east of R. Point C is to the north-east of A

Do M § &, arcoeed® B £ DHE00 OL)D 65)6. DocH R 8 2. Grdoes”
M £ oie 853 &) 8. Dood A, 11 Q. PGS’ R £ AN &N B,
Doten ALy Sy &-Eﬁ)ba‘) Docoay C ea;,.&..

Options :
1. %1
2.¥2
3. %3
4. % 4

Question Number : 8 Question Id : 4969019 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Six persons C. D, E, F. G. H are sitting in a line (row) facing North with equal distance
between each other. Who sits second to the left of G?

exdioc soégm C.D.EF.G.H en & Hdes® &Oodanaorr e‘.J“ci):):l') emlm.
2EBEEM DA GPo0eS &7 M. G £ IE0PLY) E60yD) Boliad 5315% e,
I, There is only one person between C and H. and C sits third from the left end of the

line. G sits at one of the positions to the right of E and only two people sit between
E and G.

C. Heo ey a8 .:»55, %) . DR 5 A el sTPad E:ﬁ C.E £ Sdpan
2 ]

D8 2l gn.raoé G S0, &) . anBow E . G © 065 A0 ago Sriyd
T O.

II.  E sits third to the left of G. F sits at one of the positions to the right of H. G is not
at the extreme end. More than 3 people sit between H and F.

G £ dean Py ared 53 E. H £ DHapnd 98 e.;gg%amj'“ F 870D
&) €. G 9065 7. swdoswu H, F e S0EF AH g0l .,}5}3}53 2006
,E‘.Jvd.)':}a“&m :

Options :
1. 8 ]
2. %)
3.¥3



4. % 4

Question Number : 9 Question Id : 49690110 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What 1s the height of the right circular eylinder?

©08) & B08 DI JB0 Jodh ?

T ~ . - 1
I.  Volume of the cylinder is 278 em’

QPO DD HODTE0 278 0.8’

II.  Lateral surface area of the cylinder is 135 em’

ATDY eDdoe PFeel3s 20.20
Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 10 Question Id : 49690111 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

M. N, O and P are four positive integers. What is the value of O7

M. N, O, P en oredd G0 ?&)_jug“og’m. O oir‘ézr )R a) )OS

I. P=0O=N=M and the median of these four numbers 15 75

P>0>N=>M 0dciw & ‘Fooa:go {1}(;556:))0 73

I. M and N are equidistant from 49. P and O are equidistant from 118

49 £ M., N e 270 Grdoes’sn, 118 £ P, 0 en pard ardoes® &) O,
Options :
1. % 1
2. % 2
3.% 3
4.4 4

Question Number : 11 Question Id : 49690112 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



How many entries in the stock register can three persons post in one day?
Q0HA gD 28 Feres” DB wDP50eS” I HArE) BanyI?
I. A working day consists of § hours

28 DI BHaweS § Hoten SocAy

0.  Ten persons can post 1200 entries in five days

DG 0B HfHen D Bared® 1200 H0Er DA

Options :
1. % 1

2.¥2
3. %3
4. % 4

Question Number : 12 Question Id : 49690113 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

What is the height of the right angled triangle?

ooe) ey Gh@o Jeo Joed?

I.  The perimeter of the triangle is 30 em

&5 §Eany eEus 30 Do.d

II.  The difference between the height and the base 15 7 em.

DR, S0P DG Bcio T 0.2

Options :
1. % |
2. %2
3.¥3
4. % 4

Question Number : 13 Question Id : 49690114 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
What 1s the distance between P and R?

P.Re ma5 CarOo Does?

I. Pis90m from Q

Q 00 P 90 &n.

II. Qis60mifromR

R #voc Q 60 .

Options :
1. % 1



2.% 2
3.% 3
4.¥4

Question Number : 14 Question Id : 49690115 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

3
%,

What is the value of 5%’y — =0

53
k%—~§ama&m?

I y+1=0

1. y-2=0
Options :
1.1
2.%2
3. %3
4. % 4

Question Number : 15 Question Id : 49690116 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Is a=07?

a=0 essnddotr

o 1>4
a
Options :
1. % ]
2.9
3.%83
4. % 4

Question Number : 16 Question Id : 49690117 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

For two sets A and B, is AB=¢?

Toc meananen A, B 05 AMNB= ¢ eashaom?

I nfA)=7,nB)=9

II. n(AUB =14
Options :
1. % 1
2. %2
3.¥3
4. % 4



Question Number : 17 Question Id : 49690118 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If O is the centre of the circle. what is the area of the shaded portion?

;€ Sogio O w008 & arabpddo 0IE), PTVI0 Jod?

I.  Radius of the circle is Sem

D8 5 go & 2o.

IL LACEB = 30°
Options :
1% 1
2. %2
3.3
4. % 4

Question Number : 18 Question Id : 49690119 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What is the size of population of a city in the year 20207
2020 20080065 J6D 2 Do Joa?

I.  Its population in the year 2000 was one million.

2000 Dode60e5” @D @ Doaf w8 VDD

II.  The rate of increase of population 1s 5% per decade
& Doy DONLGL Tew GTErIS 5%

Options :
1. %1
2.%2
3.3
4. % 4

Question Number : 19 Question Id : 49690120 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Will it be a Sunday tomorrow?

Ga e3H@°00 9o’

I.  Yesterday is not a Friday

aaﬂlmgmoo TR0,

II.  Sunday is a Holiday

e8P 00 DBy Ao
Options :
1.¥ 1
2. %2
3.% 3
4. % 4

Question Number : 20 Question Id : 49690121 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

What is the value of the coins in the pocket?

Hodest 6] THEIVO Dend Joed?

I. 30 of the coins in the pocket are one rupee coins.

€3 “@o&éﬁeaﬁ‘lmeﬁeﬁ“ 30 28 GPaFPOX) ATEIa0eD

IT.  There are 40 coins in the pocket

3 moces” 40 Trdanen &™) 0

Options :

1.%1

2. %2

3.%3

4.9 4

Sub-Section Number : 2
Sub-Section Id : 4969012
Question Shuffling Allowed : Yes

Question Id : 49690122 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: No

Question Numbers : (21 to 30)

Question Label : Comprehension

: Yes Group Comprehension Questions



Problem Solving 220305 6
Sequences and Series @X0EIreD, Frwew

Note: In each of the Following 10 questions a sequence of numbers or letters that
tollow a definite pattern is given. Each question has a blank space. This has to be filled
by the correct answer from the four given options to complete the sequence without
breaking the pattern.

RrSd:  So0 TS 10 HF) 0 1A 23S0 2D Dowen TP e D w8
SRGEIOD AaHIE) TSP . A HH S O AN Teud DAyTY
Aood DB ead  ®TTRLMAD .DKD;LE‘Q:G 0850 Lahardd oo Sewiitione
2rdozed.

Sub questions

Question Number : 21 Question Id : 49690123 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
dog: rabbis :: mosquito:
Options :

| % cholera

5 % ftyphoid

3 filaria

4% polio

Question Number : 22 Question Id : 49690124 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Delhi : India @ : USA
Options :

| % New York

5 % Atlanta
3 % Chicago

~ Washington D.C
4. 2

Question Number : 23 Question Id : 49690125 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Mind: :: Plants : Botany
Options :

Psycholog
| W R R



5 % Philosophy

3 # Physics

4% Physiology

Question Number : 24 Question Id : 49690126 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Pigmy: Kongo :: Julu:
Options :

- South Africa

North America

Kenva
3. % .

Guatemala

Question Number : 25 Question Id : 49690127 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Fich: :: Tiger : Forest

Options :
| @ Iree

> % Land

Cloud
3. %

4 Water

Question Number : 26 Question Id : 49690128 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
D6 N:
Options :

| w 225

o # 169
3.4 196

4 % 256



Question Number : 27 Question Id : 49690129 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
FRAME : 43 :: ROAST :
Options :

1. % B3

73
2.¢

3. % (8

4, % 7

Question Number : 28 Question Id : 49690130 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
ABCD : CEGI:: FGHI:

Options :

| & HILN

, % HILN

, x HILM

, » HIKN

Question Number : 29 Question Id : 49690131 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Hizd&ine T

Options :

1 89

, % 98
3 % 63

4w 99

Question Number : 30 Question Id : 49690132 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
MOTHER : ;: HUSBAND : 25

Options :



2.0%

Sub-Section Number : 3
Sub-Section Id : 4969013
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 49690133 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
In the Following questions pick the odd thing out.

3065 @D ©3) 0’ 0 TS Yoo
Options :

Zeal
1. %

, o Fill

Dial
4

4 w Rear

Question Number : 32 Question Id : 49690134 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
In the Following questions pick the odd thing out.

3065 AOND D3\ 065 8 TFIA (HBAD
Ry e g_ -]

Options :

L% Heron
) & Lizard

Hawk
3. %

Sparrow
4%

Question Number : 33 Question Id : 49690135 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



In the Following questions pick the odd thing out.
306 adND ©F) 0B’ 28 TS oo

Options :

| % Trophy

Medal
2. ®

5 o Gift

4% Prize

Question Number : 34 Question Id : 49690136 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
In the Following questions pick the odd thing out.

3063 2D VB S’ D0 TG HGousddw

Options :
| % DHL

) & MPT

L % RVZ

4 & IMQ

Question Number : 35 Question Id : 49690137 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
In the Following questions pick the odd thing out.

3063 2D VB S’ D0 TG HGousddw
Options :

1‘$~gE

G
2. ®

3% K

4. O

Question Number : 36 Question Id : 49690138 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Note: The following questions follow a definite pattern. Observe the same and
fill 1n the blanks with suitable answers.

B0 DE: S0l BN DI en € DDYBIEND DoDAFYY FBLOT 0w, €
Dear) (Do) LB VITFEETrRS arduiy L0olod.
334, 226,217.214, 213

Options :
1. ® 251

4 % 254

Question Number : 37 Question Id : 49690139 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Note: The following questions follow a definite pattern. Observe the same and
fill in the blanks with suitable answers.

0 DE: Sods 'QC}L)R') D30 28 DANBHOND JoDIEY) FOYPT)ow. &
DaBr) HDed) HBALA BAFFrTrOS rdotn Lrdoed.

9 35 91 189 341

5'1325" @ el
Options :

439
| ® 77

309

) a1

529
3 # 83

ik
4. ¢ B

Question Number : 38 Question Id : 49690140 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Note: The following questions follow a definite pattern. Observe the same and
fill mn the blanks with suitable answers.

He308: S0t NS D en wf DDYBAND DoDErD) FBLTYow. e
QoD (5200 HBAWD DEFEFTrOd Py rdodod.

0010, 0100, 0110, 1000, 1010,

Options :

| = 1011



5 1100
1101

1001

Question Number : 39 Question Id : 49690141 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Note: The following questions follow a definite pattern. Observe the same and
fill in the blanks with suitable answers.

He308: S0t NS D en wf DDYBAND DoDErD) FBLTYow. e
DaErd) (Do) HOALD PITFEETrS arduiy L0obod.
241,242, 394, 737. 1466

Options :
1. % 327

-1

4 % 263

Question Number : 40 Question Id : 49690142 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Note: The following questions follow a definite pattern. Observe the same and
fill in the blanks with suitable answers.

0 DE: Sods 'QC}L)R') D30 28 DANBHOND JoDIEY) FOYPT)ow. &
DeLAP) (0o LB VIS ardosy Rr0oted.

3.8 24, 48 120,
Options :

168
1. ¢

, % 192
5 % 144

4w 136

Question Number : 41 Question Id : 49690143 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0

Note: The following questions follow a definite pattern. Observe the same and
fill 1n the blanks with suitable answers.

B0 DE: S0l BN DI en € DDYBIEND DoDAFYY FBLOT 0w, €
DeEr) (Do) LB PITFEETrS arPuid L*00boc.
6. 8.5, 10.5, 12, 13,

Options :
| % 14

2 @ 135

5 % 145

4. % 15

Question Number : 42 Question Id : 49690144 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Note: The following questions follow a definite pattern. Observe the same and
fill in the blanks with suitable answers.

B0 D: S0t NS P en w8 DDA DoDAFD) FBLOT oW, €
DoEF) (Do) LB PITFEETS arPoi Rr0obod.

i 124242 3.5

o 5 i1 17 23
Options :
G

l\.,/3l

Question Number : 43 Question Id : 49690145 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Note: The following questions follow a definite pattern. Observe the same and
fill 1n the blanks with suitable answers.

B0 DE: S0l BN DI en € DDYBIEND DoDAFYY FBLOT 0w, €
DeEr) (Do) LB VITFEFTrS arduiy L0obod.
8. 12, 24, 36. 60,



Options :

L% 108

Question Number : 44 Question Id : 49690146 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Note: The following questions follow a definite pattern. Observe the same and
fill mn the blanks with suitable answers.

He308: S0t NS D en wf DDYBAND DoDErD) FBLTYow. e
DaAr) (Do) LB PITFEETrS ardoiy Lr0olod.

BY. CX, EV.GT. KP,

Options :

| LM

Question Number : 45 Question Id : 49690147 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Note: The following questions follow a definite pattern. Observe the same and
fill mn the blanks with suitable answers.

0! Socs "a'x:)r)rﬁ DO € PANSBIDOND JaDArD) FOROTT)ow. e
DaAr) (Do) HOALD PITFEETrS arduiy Lr0olod.
1% %
25, TR 11,

Options :
v 12
) ow 13

23



4. %

Sub-Section Number : 4
Sub-Section Id : 4969014
Question Shuffling Allowed : Yes

Question Id : 49690148 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
:No

Question Numbers : (46 to 48)

Question Label : Comprehension

Data Analysis
Bgrod DFam

Note
In the table given below, year and subject wise selected candidates in an industry are
given. Based on the information given in the table answer questions

Arciad

2t ‘A)o;’gé“' RoDBYTTR) PO B0 ﬁﬁméo%momém JodE 9010 eagigdon
DTV $06 HLS® BV, DB SEECT BWHD HAYS VI) VL BITED

@@50&.

Year(RodeyGo)—
Subject 2010 2011 2012 2013 2014 2015
Yroegozaw)

Engineering
2 ) 2
eS80l 2 4 4 4 2 2

Agriculture
Arts

23135};)

Commerce

16 32 34 40 44 52

Seience

0y 64 80 100 60 56 64

Sub questions

Question Number : 46 Question Id : 49690149 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The percentage of arts candidates selected in the year 2011 is (approximately)

2011 r"ooa@bamé‘ Jononn BQ:J £92550D0) F B0 AT
Options :

L w 21%

20%



o
_ 19%

4 v 18%

Question Number : 47 Question Id : 49690150 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The ratio of science candidates to commerce candidates selected in the year 2014 is

2014 ”foo;)@hrzioeﬁé oS 90 DA @eﬁ?ggam, s“’a)é;) @e;ilgcoi:nu DS

Options :

L% 14: 17

5 % 13:15

- 14:15
3. ¢

4w 12:13

Question Number : 48 Question Id : 49690151 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The percentage of science candidates selected during the years 2014 and 2015 1<
(approximately)

2014, 2015 ‘A)o&‘)ﬁhﬂ"oeﬁé Do Q&‘)):] e:ae;i?ggw FToEH0. re T

Options :
| % 34

) 35

3 % 33

L

Sub-Section Number : 5
Sub-Section Id : 4969015
Question Shuffling Allowed : Yes

Question Id : 49690152 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
:No

Question Numbers : (49 to 53)

Question Label : Comprehension



Note

The Pie-chart shows the percentage of the share of export of wheat from India to various
countries. The bar chart shows the price of wheat per tonne in different countries in
August 2018.

ArDD

200 QYD P D0 DDOTT0S gm0 B0 ol Fooan drbaua Tl swdoin &6
Do DHDG SFed” i 2018 Fooaw 66k BYALBB. & DATTTD) &OATH0)
£000 3D VB VL aTED BDLC
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Sub questions

Question Number : 49 Question Id : 49690153 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



What 15 the difference between the average of the export of the wheat to Mauritius and
Singapore together and the average of the export of wheat to Qatar, Dubai and Malaysia

together (in tonnes)?

A8 SBAIL DoARPEL Dt i JMand Sors, coerad adain

SuFaaires Dty T Jhande Hdo (0 0e5”)dos ?
Options :

| % 34.760

5 ® 33.000

5 % 32500

4 32.000

Question Number : 50 Question Id : 49690154 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What is the ratio of the value of exported wheat to Dubai to the value of the exported
wheat to Malaysia?

CLETO & DG e ) Dend SFHoirs) IaDd S Fooey dense)
Aaya?
Options :

Question Number : 51 Question Id : 49690155 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If 30% of the export of wheat to Malaysia goes to its capital Kuala Lumpur and the export
Price for Kuala Lumpur 1s $900 per tonne then what is the value of wheat exported to
Kuala Lumpur (in thousand dollars)?

ST 0ITL NS 32D Feoawees® 30% ol Tamrd Tereord D9 ol Dad

$900 /0y eond, Seroodrs O DA S0 T Dend Jod(Dorreges’)?
Options :

| w 25.600

, % 24375



3.« 24300

4 % 23400

Question Number : 52 Question Id : 49690156 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
What is the difference between the total exported value of wheat to Mauritius and the total exported
value of wheat to Australia and Dubai together in (thousand dollars)?

SOFVOITED ADADS I Heban Dendsd eRBair bl Mera §85 Ibaod
T8 Febad Denodsd Sco e (Dorrages’)?
Options :

| # 12825

, = 12576

3@ 12600

4 % 12500

Question Number : 53 Question Id : 49690157 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If the export to Qatar is 15% less in July compared to that in August and the price of
export of wheat to Qatar is 5% more in July compared to that in August. what 1s the value
of wheat (in thousand dollars) exported to Qatar in July?

Ser6 £ DEDS esIF ﬁ‘&aﬁ areTes” 15% B D. DD OO e5(306F ﬁ‘i}a@
areres® 5% 5. eveTes® SErgD), IS SD Heoan Dend Joss (Derreges’)?

Options :
10040.625

5w 10020.625

3 % 10015.425

4, % 10025325

Sub-Section Number : 6
Sub-Section Id : 4969016
Question Shuffling Allowed : Yes

Question Id : 49690158 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
:No

Question Numbers : (54 to 55)

Question Label : Comprehension



Note

In a group of 64 people. 36 speak telugu. 40 speak English. 38 speak Hindi. 18 speak both
Telugu and Hindi. 24 speak Hindi and English and 16 speak English and Telugu. 8 people

speak all the three languages. Based on this information. answer questions

R

64 5008 &Y 28 VAT 36 (XL BeNIDHA, 40 D08 FOAD B 38 b rodD), 18
Q008 BenH dBAIL 0B, 24 ob rod OGIL QohD A, 16 Hod oD dvdain
BeniaD, 8 0od P BPIYND ATPEREOIPM, S mmb‘lc&mmﬁo&

Sotd By ©3) O8O 2aTPENRD YD

Sub questions

Question Number : 54 Question Id : 49690159 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

How many speak only Hindi?

PoBD ISR JoBR APLFEETEE?
Options :
w3

2 %6

Question Number : 55 Question Id : 49690160 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

How may speak exactly two languages?

Doéd S0 3_31‘:);:'@0?‘5" ot PO a0°EPaD ST COED.
Options :

24
1. %

2. % 32

3 & 34

4 % 28

Sub-Section Number : 7
Sub-Section Id : 4969017
Question Shuffling Allowed : Yes



Question Id : 49690161 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (56 to 60)

Question Label : Comprehension

Coding and Deceding Problems

§doh, A8doh navtgen

In a eertain code, n'™ letter of the English alphabet is called as ™, where n+12 =26m+r
such that m and r are integers and 0 < ¢ < 25 and when 1=0. ™ letter is treated as ‘z’. For
example the 5™ letter E is coded as 17% letter Q. N as Z and R is coded as D. The reverse
process 1s used for decoding. Use these to answer questions

AR

25ea 8 %6{13&36@0&{1 e E0a0eRs D n .;3'29%0“2);3_ ntl2=26m+r, 0<r=25 m. rew
QPGOSen BODHILENTT &otl r & eEcorr EE SJm. 8010 r=0 9008y, T D
OETN'Z T robodiod. &IOR8 5 o &80 E Ao 17 & 9&060 Q ma, N Ao Z e,

R &0 D i §E 33, A8 Coh ©O Do D56 Seard. IO oG
Q%‘&UQ} 2TDD0C

Sub questions

Question Number : 56 Question Id : 49690162 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
‘PISTOL" is coded as

‘PISTOL’ £ &
Options :

BUEFAY
1. %
~ BUEFAX
L

, % BUFEAX

4 « BUFZAX

Question Number : 57 Question Id : 49690163 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
KNOW? is coded as

KNOW' & §&
Options :
| % WZAT

, % WZBI

3 WZAI



4% VZAI

Question Number : 58 Question Id : 49690164 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The number of letters which are coded as them selves

eSS B e9aldy LT Doay
Options :

1.331

Question Number : 59 Question Id : 49690165 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
‘QUSTF" 1s coded as

‘QUSTE’ 1 && SonedHd 962

Options :

| o EIGHT

, % NIGHT

3 % FIGHT

4 % TIGHT

Question Number : 60 Question Id : 49690166 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which is coded as ‘MZPTDM"?

‘MZPTDM’ 1 §& Sobheddd 267
Options :
" ANDHEA

, » ANDHRA

, » BANDHB



, » CODING

Sub-Section Number : 8
Sub-Section Id : 4969018
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 49690167 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If ‘TEMPLE’ 1s coded as *‘ETPMEL’, then in the same code ‘PRISON’ is coded as

‘“TEMPLE’ #0 ‘ETPMEL'rr §& 33 e & ariyS® ‘PRISON’ & §& Da?

Options :
| v RPSINO

, % IRPNOS

; » ORSIPN

4% NOSIRP

Question Number : 62 Question Id : 49690168 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In a certain code language ‘ENVOY" is written as ‘ANEMG’. Then the code for

‘FEWER in the given code language is

w5t 38 & oeine” ‘CENVOY 'R0 * ANEMG' TR )y &3 £& eef® FEWER £
§&
Options :

| » TDDCH

, % TBDDH

, » TDDDH

, % TDVDH

Question Number : 63 Question Id : 49690169 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



In a certain code language ‘today is Sunday’ is coded as “Zt bx jq' and ‘sunday is holiday’
15 coded as ‘jq bx hi’ . Then the code for ‘holiday’ in that code language is

25eSY §E arned® ¢ ‘today is Sunday’ &0 Zt bx jq° re ‘sunday is holiday’ &0 “jq bx
hi’ e € 3% €9y € ¢ e’ ‘holiday’ % §'&
Options :

133 zt

2. E bX

hi
3.¢

L %19

Question Number : 64 Question Id : 49690170 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
If ‘DANGER’ 1s coded as *DAGNER’ then *SLIGHT’ is coded as
‘DANGER’ £ ‘DAGNER’ t» §& 4% ‘SLIGHT % &

Options :

L SLGIHT

, % SLGIHT

; % SLHIGT

4 % SLGIHS

Question Number : 65 Question Id : 49690171 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
If ‘COMPUTER" is coded ‘DNNOVSFQ'. then “CALCULATOR’ is coded as
COMPUTER’ & ‘DNNOVSFQ . e §& e ‘CALCULATOR’&EE
Options :
" DZMBVEKEBRPQ
1.

33 DZLBVLBSPQ

3 % DZMBVLBSPQ

4 DZMBVEBSPQ



Question Number : 66 Question Id : 49690172 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Date, Time & Arrangement Problems
38, davao, wadge DRIED

On 12% January 1979. the day of the week was
12" 2550 1979 O or6o 00087

Options :
Thursday
| & (DOT00

Friday
Saturday
3. % @daorGo

Sunday

4% e3e37 00

Question Number : 67 Question Id : 49690173 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Date, Time & Arrangement Problems
88, davao, wabLe DRI

If a clock’s hand coincide every 64 minutes. the time (in hrs) it loses in a week is

w8 ACOITG0e5"D aneen B8 64 Dare F530 D32DY. a700es” HHR o P
Options :

L)
3— hours
¢ 11

2
3— hours
2. % M

9
2— hours
3w 1

10
2— hours
4. % 11

Question Number : 68 Question Id : 49690174 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Date, Time & Arrangement Problems
38, davao, wadge DRIED



The time between 7:15 PM and 8:00 PM. at which the minutes hand and howrs hand in a
clock coimcide 157

2,8 (¢.airGoes” 7.15 p.m, 8.00 p.m © 0GY 2 DadaDonesd” Do awen abain
(otye) e DELDI00?
Options :

T:23

PM

,_.
#®

i
b-—l'“‘]

7:38 = PM
v 11

7:56 - PM
4 % 11

Question Number : 69 Question Id : 49690175 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Date, Time & Arrangement Problems
88, davabo, wddse DD

A 1s the husband of daughter of B who is the wife is C. If D is the son of A. then C is
related to D as

C £ ardf o B ding), Sraotsd 36 A A S D SHard wond, o D 9 C

AIOEI0G0
Options :
Great grand father
| dwere

Grand father
0. Erad

Grand son
3 % W

Great grand son
4 % ADIEDHDO

Question Number : 70 Question Id : 49690176 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Date, Time & Arrangement Problems
88, davabo, wddse DD



A person covers the distance between his house and office on his scooter with an average
speed of 20 kim‘hour. He is late to his office by 12 mts. However. at a speed of 30
km/hour. he reaches his office 8 min earlier than the usual time. The distance (in km)
between his house and office is

28 3 B BOL TTHOAITFIS E:d) BrEA VDo 20 3.20/f0 & DV
Aruren pavano STy 12 aaren RIOD[OIT DWITCD. 50 308.50/00 Do DI

ATFATPE) WAoo QR}“;)_ 8 DIaren AV DFEPE). Qotdd 5°U°5UWD§ DOC

Grdo &.20065" Jo?
Options :

w18

20

Question Number : 71 Question Id : 49690177 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Date, Time & Arrangement Problems
88, davabo, wddse DD

A person A has come to a meeting 45 minutes late but 33 minutes before the arrival of B
who has arrived 56 minutes later than C. If C came to the meeting at 11:07 AM. the

meeting 1s scheduled at

A 00 208 D53 DOTrDT IS 45 IDaren ORI ey, 52D B 5065 33 Ddoaren
Q00T HEFy . C ot 56 Adoaren eswRgom B Dy, 11.07 am £ C 2ard7d3
DHLONH DAFDFY) Db paao Jo?

Options :

11:25 AM
1. %

5 % 11:00 AM

10:30 AM
*

4 10:45 AM

Question Number : 72 Question Id : 49690178 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Date, Time & Arrangement Problems
38, davao, wadge DRIED



Six people A, B. C. D, E and F are sitting for a meeting around round table facing the
centre of the table. D is to the right of A and left of E. B is to the right of C and left of A.
If F 1s opposite to A. Who 1s sitting to the right of F?

9HTSPOR) 89 P Sordawoerr 6 SfSen A, B. C. D, E anbdoiw F
SPNT 3. A S 93¢ P D. E 9 20 pap D ey . € % S pap B, A S dcaw
2 B &) . A £ 26083 F 20t3 F £ 2d Da)d Dot gﬁmannlm?

Options :

Question Number : 73 Question Id : 49690179 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Date, Time & Arrangement Problems
38, davao, wadge DRIED

If “+ means *—', — means ‘X’. *~" means ‘“+ and ‘X’ means ‘=’ then what is the value
of 15-3+10x%5+5
+7enol] =T, " egfd (X, 5T e9pdd T 20005 “x eodd T esoed]l 5-3+10xX 555 o'ms;j

2BV JD0oEd
Options :

L ® 22

, % 52

3.\/48

4 % 47

Question Number : 74 Question Id : 49690180 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Date, Time & Arrangement Problems
38, davao, wadge DRIED

; o X
f)=x+1D% g =(x—1)% h(x) = 5
X

fO) = +1)% g(0) = (@ — 1% h(x) =5 oowd , f (a(r(-1))) =2

then, f (g(h(—l])) =7

Options :



169
169

13

Question Number : 75 Question Id : 49690181 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Date, Time & Arrangement Problems
34, davabo, wose D5

i . 4
For any integers m and #, define m » n = 2n® + 3m, man = HT:H and mfn =
5n(2m — 1). then 8 = (9a(786)) =?
L 4
<) YPTOSRV M, NV M+ N = 2n% + 3m, man = (*m}-zq-;a) apfcivmfn =

5n(2m — 1) e DOGDIR. Dy 8 « (9a(746)) =7

Options :
| % 515
9 # 283
3 % 8136

£54372
4 - 432

Mathematical Ability

Section Id : 4969012
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75
Section Marks : 75
Display Number Panel : Yes
Group All Questions : Yes
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 4969019
Question Shuffling Allowed : Yes

Question Number : 76 Question Id : 49690182 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Arithmetical Ability
woiirid avmgﬁa

If x, y are rational number such that (3%¥+1)%.23¥ = 108, then 3x + 4y =

(37F1)%.237 = 108, eocbyatan™ X, y e 9S00 Do 900B, NN 3x + 4y =

Options :
1. % 1

4 2312

Question Number : 77 Question Id : 49690183 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Arithmetical Ability
woiirid avmgﬁa

If 2% % 3% % 5¢ = 40500, then a® x b? x ¢¢ =

2% x 37 x 5° = 40500 wond. &)y a® X b? x ¢ =
Options :

| o 27648

, % 20250

3 % 27864

4 % 20125

Question Number : 78 Question Id : 49690184 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Arithmetical Ability
wodicdeh &mg‘sé

If44 = 7B and 5B = 9C. then A:.C=

44 = 7B swdain B = 9C esond, ?ﬂ?’Q)‘DG.) A:C=
Options :
| #% 36:35

5 % 20:63



3 % 35:36

4 @ 63:20

Question Number : 79 Question Id : 49690185 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability
WosHrdd a-mgsa

35 litres of mixture contains milk and water in the ratio 4:1. How much water (in ltrs) is to
be added to this mixture so as to have mulk and water in the ratio 2:17?

35 E)mg Q300 , ren dain AB 4:1 DG &° SHA Gob. Jren bk A 2:1

DG Eocerdd & A Jod A Sward (Be0e°)?
Options :

1. Y 4 f

2. %

4.8 4

Question Number : 80 Question Id : 49690186 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Arithmetical Ability
woHtrieh a-mg‘sa

2 1 1
i + =
J10+2v21 J12-2v35 8 —2Vi5

Options :

lsgﬁ

V5

2. %

V3

3. %

4.v 0

Question Number : 81 Question Id : 49690187 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Arithmetical Ability
woiirid avmgﬁa

T 2
3R ( ] 1) _
Hx= VR then [ x = =

3442 1)2
x = 212 eaond, €92y (x—;) =

\.q— \-"E

Options :

| % 16V6

3 % 128

o 12

Question Number : 82 Question Id : 49690188 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Arithmetical Ability
wodicdeh &mg‘sé

The number of odd divisors of 16200 is

16200 cog), &0 eradine SLEDY

Options :

2&350

Question Number : 83 Question Id : 49690189 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Arithmetical Ability
woiirid avmgﬁa

In a division if the divisor, remainder and quotient are respectively 18, 13 and 17, then the
dividend is

28 arrreroaned’ araLtan, 00 0L EPIPOaL ST 18, 13, aobob 17
e300, ) &8 DT

Options :
1. % 257



4 @ 319

Question Number : 84 Question Id : 49690190 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Correct Marks : 1 Wrong Marks : 0

Arithmetical Ability
woliirddh &mgsé

If the GCD and LCM of two positive integers x, y are respectively 18 and 1080. then the
remainder when their product xy is divided by 49 is
B0t (& QPTrosTen X, ¥ © (.. & 2odoin £.37.00 en DR 18 swdaiv 1080

e300, TN o) ©aw Xy D 49 o erfor 53':3(3 P20
Options :
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Arithmetical Ability
wodicdeh Eﬁbmg‘sé

What is the smallest number when increased by 11. is divisible by 15. §. 25, 247

11 5BDIDND 15, 8, 25, 24 03 3y wrhoded 835 Dows DB?

Options :
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, w 611

3 % 289

4 % 311
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Arithmetical Ability
woiirid avmgﬁa

(0.569)(0.569) — (0.331)(0.331) _
0.569 — 0.331 -

Options :
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3. % 100
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4, % 100
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Arithmetical Ability
wodicdeh Eﬁbmg‘sé
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Options :
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Arithmetical Ability
woiirid avmgﬁa

The difference between the largest and the smallest of the fractions:

513 6 19
- —,—and —is
618 11 36

5 13 & 19 & y .
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Arithmetical Ability
woliirddh &mgsé

If x 15 a positive real number, then which one of the following is false?

X 28 G O7R Dof £9000E3, 9D G 206 T70eY DA eI T

Options :

L x+2<x+3

sy X—3<x-—2
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Arithmetical Ability
wodicdeh Eﬁbmg‘sé

7 . 3
If x % of 555 then x =
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Arithmetical Ability
woiirid avmgﬁa

In an election contested by 2 candidates 15 % of the voters did not vote. The winning
candidate won by 1530 votes by securing 60% of the votes. Then what is the number of
voters in the electorate?

QE0 ezden T 30 2.8 IS & 15% Lexd Lew ey DICTEHoE S, BB
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Options :
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Arithmetical Ability
woiirid avmgﬁa

A dealer purchases an article and marks it at 20% higher price. If he sells it with a discount
of 15%. then his profit percent is

28 DL B8 DD B, ord GO0 20% 00 PEAE. e oD 15%

dﬂ“&eﬂﬁ 5 0B e el F0?
Options :
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Arithmetical Ability
eoticieh r}’mgﬁa

By selling an article for Rs. 6900, a dealer gets a loss of 8%. In order to get a profit of 5%
on that article. its selling price (in rupees) should be

W8 DD Gr.6900 3 Mo DY wE Cob 8% x}gu:ql ToCLERE). €3 D) DI
5% eraan Jomroot) ol e s Go(ar| o ©°).
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Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability
e@otirie r}mgﬁa

If three partners A, B. C invest Rs. 36,000, Rs. 54,000 and Rs. 72.000 respectively in a
business for a period of 12 months, 8 months and 6 months respectively, then the share of
C (in rupees) in a profit of Rs. 10.980 at the end of the year is

Q0 E,J“rii)"f:m)m A B.Cenat avéavcsoe’i‘ ar. 36.000. &7, 54.000 s0daiw 6.
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Options :
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Arithmetical Ability
wotitiede &mgﬁa



A and B enter into a partnership with capitals Rs. 45.000 and Rs. 60.000 respectively. After
4 months. A invests another Rs. 15.000. Then the ratio in which A and B share the profit at
the end of the year is

A 280w B &0 HARM dr. 45,000 cndoiw 6. 60,000 & DEwedd w8 oeircoe s
VDITW. 4 DVO BHOTB A 0 Ar. 15,000 O DEPLETT DEFC. DD A
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Options :
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Arithmetical Ability
eosicdeh r}:mgﬁa

Two pipes A and B can fill an empty tank in 6 hours and § hours respectively. After
opening both of them for x hours, pipe B 1s closed and pipe A filled the rest of the tank in 4
hours, thenx =

BocS Penen A a0doiw B 2l o9 oﬁ’%}?ﬁ) SERT 6 (otren S0 8 otrees®
DoEan. &5 Gootdd X fotiwared oM Bmara, B pipd 2urd, Fde’d hd
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Options :
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Arithmetical Ability
Wosredd r}:mgﬁa



Tap A and Tap B can fill a tank independently in 3 ¥ hours and 4 ¥ hours respectively.
Tap A is opened at 6:00 AM. After that tap B is opened at 7:10 AM. then the time at which
tank will be full of water is

Swron A s0doiw Evron B en 28 0 DEDCT 3 ¥ fotren apdain 4 ¥ fiotaeres”
IR Do) . Svon AD 6amdes dord o B 7.10 a .m 8 802 e
FO D QP DodeE Dapao

Options :
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Arithmetical Ability
wolricddh &mgﬁé

Three trains moving with speeds 45 kmph, 60 kmph and 75 kiph respectively took £y, t3

and tz hours to travel x, %x and%x kilometers, Then ty:fp:t3 =
fi0&)E 45 3.0, (o5 60 3.0 BT fotrd 75 4.0 Defodd Fah dored By x.%

st 3% 2 .20 DOLPE0 BOLEEIS HEODT By, b B0 t3 fotren BT .
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Options :
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Arithmetical Ability
wodicdeh &mgﬁé



Mr. A travels from P to O at 60 kmph and returns from Q to P at 40 kmph. If the total time
taken for the whole trip 1s 10 hrs then the distance between P and Q (1n kms) 1s

P &0 Q3 A o3 60 3.00 Fayd Q A00d P 3 oty 3 40 3.20 Sy 366
DT, € Do POITFEFIS SIS DD Stwo 10 riotren eand P dndoin Q & Sy
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Options :
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Arithmetical Ability
eosirdeh a‘rmgﬁa

Three persons A, B. C can finish a piece of work alone in 16. 24, 32 days respectively. All
the three together started the work. But after 2 days A left due to illness and B. C continued
it, Then the total number of days in which the work finished is

A, B. C 03 2000 a5%e0 2.8 DA 2,58 DEDAT 16, 24, 32 FevereS” HOmT 270
SO €5 DV S0 &7 1D ADGLDEW. onS, 2 Ferer edared es-a"ﬁéﬁgo
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Options :
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Arithmetical Ability
eosicdeh r}:mgﬁa



A and B can do a work 1n 12 days. B and C in 15 days. C and A in 20 days. The number of
days required for all the three put together to complete the work 1s

28 HDD A 20080 B en 12 Hereres” , B 20bai C en 15 Hareres™ C 208030 A en 20
Faveres” Sabie. QHEP SHD 2 DI PY BoNETIE D Bare Doy
Options :
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Arithmetical Ability
wodicdeh &mgﬁé

. 2 i 0 " . " "
The area (in em”) of a right angled 1sosceles triangle whose diagonal length is 40 cm, is

40 20.20 DEGo TN ADHD 0wt VAAETTNV HEbhao ahog), DFTR50 (c3.20.50
ee5°)

Options :
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Arithmetical Ability
woHtrieh &mgﬁa

. . 27
If the area and perimeter of a rectangle are respectively 2016 em™ and 260 cm, then the
difference between the length of its sides is

2 &g ©B00Re CI0E), PFTej0 dain hepFes s 2016 ©.20.40 Sudoin 260
0.0 00, B T pane TP 26y So
Options :
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Arithmetical Ability
wolricddh &mgﬁé

A tent is in the form of a cylinder surmounted by a cone. The radius of the base of the
cylinder is 30 feet and its height is 10 feet. If the total height of the tent is 20 feet. then the
volume enclosed by the tent {in cubic feet) is

8 (DHEPEO 28 PFDIVY , 28 F0DD £5°B0c) es5°00e5" &od. APOAD I
méﬂ“gm 30 eachrren adoin e Q0 10 eaghrien. &7 Moo dan I 20
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Arithmetical Ability
woHtrieh &mgﬁa

The volume of a cube (in cubic feet) whose total surface area 15 384 square feet 15

RorY B PEreso 384 c.eachien e DA 28 DOH0 d308) 20 oBarco (0

eacarieses”)
Options :
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Arithmetical Ability
woliirddh &mgﬁé

A trapezium has height 18 em. If the difference between the lengths of the parallel sides is
24 cm and 1ts area 1s 504 sq.cm, then the length of 1ts longer side (in cms) 1s

28 DAVVOL) D0 I 18 0.2 TP DATEAC Zaane TEen G Soo 24
20 .0 80T o°D PTOL0 504 D 0.2 ONB, N T TEDH (DEED ) soao
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Options :
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Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability
WosHrdd &mgsa

Let S be the surface area of a cube of edge 9 cm. This cube is cut into smaller cubes of edge
3 em each. If S1 1s the sum of the surface areas of all the smaller cubes then 8:51=

9 0.5 esocan E6A &:{):L FSR NIV IY) 03.1)585 :’\)o‘f.,)_?g@u DTV o S eaoEod. &
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Arithmetical Ability
Wosricdd avmgﬁa

The larger and smaller radii of a frustum of a cone are 18 cms and 8 cms respectively, If the
height of that frustum is 12 em then its volume (in cubic centimetres) is

8 Foawe)) BSos Goe éjéa)_.m) cﬁ:o!féaT DESD ndain :}.ﬁ;ga@ G"!S‘a"gm)w ST
18 2o.cn S08ain 8 2o.2n. e B0E), I 12 20.20 90008, ENED T°D) L0
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Options :
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Arithmetical Ability
woliirddh &mgﬁé

If a pumber in binary code is 110110011 then its value in decimal code 1s

B0 Fcoef® 2,8 Doag 110110011 e2008. €920 GT°03E 0eS° o°d g, Dewd.

Options :
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Arithmetical Ability
wodicdeh &mgﬁé

The last digit in 7" is

751 65% D90 €908
Options :
| % 9
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Algebraic and Geometrical Ability

DA, 2;dabH .a-.mgﬁes

If p.q. 1 are three statements. then (p - (g — 'r')) is equivalent to

P. g, 7 0 S0P PadTren eond. ey (p = (g = 1)) 3 svogo edbyd
Options :
L& @=@-or
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,x (eva)—r
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Algebraic and Geometrical Ability

Ddan, rgodad .au.mgses

The contrapositive of the statement p — @ is

P — g 20000 0108, 2000800
Options :

| (~p)—q

, u ()= (~q)
3. ¢ (@) =(~p)

4, ® G—=p
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Algebraic and Geometrical Ability

Ddap, 2rgodap .av.mgses

LetA={xeR|x? <9}andB={x e R|4 <x? < 16}thenANB =

A={x e R[x? < 9}anbaiv B = {x E R[4 < x* < 16} 900l . 9> ANB =
Options :
L v (3.-2)u(23)
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Algebraic and Geometrical Ability

Ddan, 2rgodap avmgses

If a set A has 3 elements, then the number of reflexive relations that can be defined on A is
w8 Dana A 6° 3 sarosten eofl, A p Dd&ﬁ)ot’.}ﬁm DGR Dodotisw :003}75
Options :
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Algebraic and Geometrical Ability

DA, 2;dabH .av.mgﬁes

Forx # O define f:R — Rby 2f(x) — 3f (ij = x2, Then f(3) =
X

x#08 f:R> R 2f(x) — 3f e) = x% tr DogDodod, BN@D f(3) =

Options :
1.« -11/3

2. % =3
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Algebraic and Geometrical Ability

Ddan, gD Jedod &
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The y-intercept of the line = = r5+ i3
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Options :
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Algebraic and Geometrical Ability

Ddan, 2rgodap aumgses

If a line passes through the points (-7, 18) and (32. 5), then the sum of the intercepts made
by the line on the coordinate axes is

28 Dovda (-7. 18) sudatn (32, 5).Docwapne o ot & G DAros e=rep S50
29050 Do) D0

Options :
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Algebraic and Geometrical Ability

DA, 2;dabH .a-.mgﬁes
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Algebraic and Geometrical Ability

DA, 2;dabH .a-.mgﬁes

tan85°tan 50° — tan 85° — tan 50° =

Options :

Ll

-1
2. %
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Algebraic and Geometrical Ability

Ddap, 2rgodap .au.mgses

1 : : s
IfsecA +tand = = then the quadrant in which 24 Les 1s

secA+tand = %'P_‘JDJJ@, A 55;:%3@0 @03375 TrGaw

Options :
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Algebraic and Geometrical Ability

Ddap, 2rgodap .au.mgses

The top of a tower malkes angles of elevation 30° and 45° at the two points A. B which are
collinear with the foot of the tower on the level ground. If AB=100m. then the height of the

tower. (in meters) is

28200  F0o arcand DDA Bot Docapen A adaiv B © DG w8
Fapoo 35 3 g Heren 30°and 45°, AB = 100 2 e300, &3 Fapdo e (2oeges’)

Options :
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Algebraic and Geometrical Ability

DA, 2;dabH .a-.mgﬁes

Ifx+y+z=8x3+y>+2>—3xyz=128thenx® +y?2 + 22 =

x+y+z=81x>+y +2° —3xyz = 128 000, oy x> +y* +2% =
Options :
% 8

L x 16

3 ® 24
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Algebraic and Geometrical Ability

Ddaw, &rgodaD an.mgsa



A polynomial of degree 4. with leading coefficient one and with rational coefficients for

which 2 — /3 — V5 is a zero is

DD o e MHsan LSO SudaIL E0HoL MNsaveE i cotar 2 — /3 —
VE D a8 BT HOAD S6MG Treu (o 2D,

Options :

e xt+8x3 +8x2 +32x + 44

o % x*—8x3+8x% +32x + 44

xt 4+ 8x% +8x2 +32x — 44

1t —8x3 +8x% 4 32xr — 44
4. ¢
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Algebraic and Geometrical Ability

DA, 2;dabH avmgﬁes

If px + q is the remainder when x* + 7x° + 13x? + 4x — 3 is divided by x% + 2x + 5.
theng—p =

x*+7x% +13x% +4x — 3D x% + 2x + 5 S erhodrr Oy Fasdw px + g wowd.
BN q — P =
Options :
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Question Number : 125 Question Id : 496901131 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Algebraic and Geometrical Ability

DA, 2;dabH avmgﬁes

A polynomial i1 x leaves remainders -1 and 7 when 1t 1s divided by x + 1 and x — 3
respectively. If the same polynomial is divided by x? — 2x — 3 then the remainder will be

X €5 208 aundd X+ 1 sudain x-3 3 wﬁo&é‘@bm st -1 s0dain 7 oo

FAA0T @000, 98 BPNdD XX —2x—3 3 z;“ﬁo:".m‘@:]c‘_) af&th Faged0
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Question Number : 126 Question Id : 496901132 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Algebraic and Geometrical Ability
Ddan, 2rgodap aumgses

The present age of a father is 4 times that of his son. After 10 years father’s age is twice
that of his son. Then the difference of their present ages is

28 B0G DS HOVADY BB O DOV 4 TE. 10 DODENT"D SWIE B0d,
DoAY FEOLH HAD0S GH0R). SR)yE T°B DR DO DG Bee?

Options :
Lo 13

o % 20

4. % 5

Question Number : 127 Question Id : 496901133 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability

DA, 2gSab an.mgﬁa

24 30 30 9
+ =7 and ————=1.then 2x + 4y =
x+ty x—y xty x—y

IF

2+ 2 — 7 b0 S~ = 1 eon®, ek 21 + 4y =

x4y x—y x+y X—Y

Options :
| % 12
0 # 18
w 24

3.

4 30

Question Number : 128 Question Id : 496901134 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability
Ddan, gD Jedod &

of
If the sum to 2u terms of the arithmetic progression 2. 5. 8. ...... is equal to the sum to n
terms of the arthmetic progression 57. 59, 61, ...... then n=
@0 36 2. 5.8, ... ojngb 2n DY DO (v dodo , o FE 57. 59.61. ...

C0S). N DT 05 (10 DVBDVDD REII”R000E N N =
Options :
1.4 11

2. % 10

5 w2

Question Number : 129 Question Id : 496901135 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability

DA, 2;dabH .av.mgﬁes

In a geometric progression with positive common ratio. the ratio of 13® term to the 7™ term
is 27:1 then the ratio of its 9™ term to 16™ term is
63 DEIFBALE do e 3¢ 6 13 5 DEEdS 75 DoEIS (o DG 27:1 vond oo
9 D oIS 16 & DOEAS S0 (o) DG

Options :

i
1 % 343

=N

Question Number : 130 Question Id : 496901136 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability

Ddan, 2rgodap avmgses



. . . . . B I Sl ;
If the constant term in the binomial expansion of (21’2 = 3—) is £ where GCD of (p.q) =
x q

1, theng —p =
9
= = e i * v, B e E
A (P.q) = 1 €000 (Zx 3x) 0L, BLEOG DQGES D oD - 902083,
BN § — P =
Options :

w17

, w18

3.\/19

4. %20

Question Number : 131 Question Id : 496901137 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability

DA, 2gSab a»mgﬁa

F(1+x0)0 =ay+a;x+a,x2+ -+ a3 % then 3(ag +a; + ay + -+ ay) —
2({11 + as + ﬂs + + ag:} =
(1+ 1)1 = ap + a;x + 432 + - + a5x'? oS, Ry 3(ag + az +ag + -+
am) T 2({11 -+ asz + as + - 4 ﬂ,g} =

Options :

| = 256

5 o 512

3 % 1024

4 % 1536

Question Number : 132 Question Id : 496901138 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Algebraic and Geometrical Ability
DdaH, 2godab Jodd &

85
7 1. B 1 4 -6
IfTA=|3 1 —2|.B=|2 —1 5 |then the trace of the matrix AB is
-4 3 2 7 0 —3

7 1 5 r 4 —6
A=|3 1 —-2|,.B=[2 -1 &5 |eons, BN AB 207 @BS it
—4 3 2 L D =3

Options :




1. ® 44

% 33

3.¢ 88

4w 11

Question Number : 133 Question Id : 496901139 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Algebraic and Geometrical Ability

Ddap, 2rgodap .au.mgses

If B 1s a symmetric matrix and C 1s a skew symmetric matrix of the same order such that
B+C=AthenC=

B+C =A es0igeaenm B 2,8 I 2G4 anboin C 8 Dan Qo Args e)ar )
28 Diaroo SOA o N C =

Options :
1 T
L -4+ 47)

i1
S(ah —4)
7(4—4D

14T
4 % 2

Question Number : 134 Question Id : 496901140 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability

Ddaw, &rgodaD an.mgsa

o 124224 ..+ n?
lim 5 =
n—+00 n

Options :

0
1. %

2.&31
3.8 12

4. < 1/3



Question Number : 135 Question Id : 496901141 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability

DA, 2;dabH .a-.mgﬁes

7x243 dy
Ify= £ +¥ then (—q') =
x?43 xS =2

_ TxZ43x
- x345

dv
290083, Eﬂ?’o}_};jtf_) (di) o =
xX=z
Options :

| % 539

Question Number : 136 Question Id : 496901142 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability

Ddaw, g odap avmgﬁa

If the area of an equilateral triangle is 25v/3 sq.cm, then its perimeter (in cm) is

208 a0 e Gdieo cm:fsb LTV 2543 9. 20.20 eond, D T cogpEos
(20.50 ee5%)
Options :

o= 15

5 @ 30

4 % 40

Question Number : 137 Question Id : 496901143 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Algebraic and Geometrical Ability

DA, 2gSab an.mgﬁa



If the length of the diagonals of a Rhombus are 48 cm and 14 em. then its perimeter (in cm)
1s
w8 D DB Ro I, DEGAVY TFesanen 48 Do.sn andoiv 14 Ho.2b esond.
DY T ctd Foo (Ho.d ve)
Options :
L% 10

2. % 40

5 % 80

4 » 100

Question Number : 138 Question Id : 496901144 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability

DA, 2gSab a»mgﬁa

If an arc of a circle of radius 21 em subtends an angle 60° at the centre of the circle. then
; . 22
the length of that arc (in ems) is (take w = 7)

21 0.2 TFIGAD (1) 258 HHEA GIVE)Y, TDAD T Togaw Hg 60° Eran Soe
9 €9 EDAN 'Y Po.a0 0t (T = % ™ &0l

Options :

1. #% 1260

2. 22
3 % 630

4 % 11

Question Number : 139 Question Id : 496901145 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability

Ddan, 2rgodap avmgsa

The ratio in which the point (1. -1) divides the line segment joining the points (-2. -8) and
(7.13) is
(-2. -8) swdasw (7. 13) Dotwapord 8D Bar ot (1,-1) Dotva) Do DOyd
Options :
1. ® 1:3



Question Number : 140 Question Id : 496901146 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Algebraic and Geometrical Ability

DA, 2;dabH .a-.mgﬁes

If(2.3). (4, -5). (-1. 7) and (-8. -10) are consecutive vertices of a quadrilateral. then the
product of the lengths of its diagonals is

(2. 3). (4. -5, (-1. 7) a0Basn (-8. -10) en 208 L0 222000 o?méb SR %‘gmw
00B, B T DEGAVL IS, TFEDY LB

Options :

| 65

4 % 324

Question Number : 141 Question Id : 496901147 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Statistical Ability

a’c.«pés &mgﬁa

The arithmetic mean of the first 70 odd positive integers is

20668 70 80 69 QPGSR €902 aDEFEVOD)
Options :
% 1S

7 # 35

7
3.¢¥ 2

4w 105

Question Number : 142 Question Id : 496901148 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Statistical Ability

avcangs %-mgﬁa

If a data contains the first 12 natural numbers with corresponding frequencies as the
squares of those natural numbers then the median of the data is

28 GTPOTON AVGE 12 DIFe DoDIVAD, TS AR eI0i] H i BRFOVNT €
DaTean “;003}15&) agmem S8f &ot], @@Dm £3 0T o?mSaF S50

Options :
1. % 6

2. v 10

Question Number : 143 Question Id : 496901149 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Statistical Ability

5'0.’_:)55 5‘5‘-“‘35“-"

The mode of the following data

€ S00 Ggroza) CINE), EFTPOIPEIL

Class Interval

BS6S eotscany | 20— 30 [ 30—40 [ 40—50 | 50 —60 | 6070

Frequency
Options :
L% 41.25
5 o 33.75
3 % 45.50
4 % 47.00

Question Number : 144 Question Id : 496901150 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Statistical Ability

5'0.’_:)55 5‘5‘-“‘35“-"



The variance of 49, 53,57, .... 8915
49, 53,57, ..., 89 méh a7y

Options :
| ® 10

o % 20

4 v 160

Question Number : 145 Question Id : 496901151 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Statistical Ability

aueqa;,s avmgsa

The standard deviation of the observations 105. 110, 115. ...... .1351s

pBI0Dden 105, 110, 115, ...... 135 © GI05); Sa IO

Options :
15
1. %

o w12

3.\/10

4. %

Question Number : 146 Question Id : 496901152 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Statistical Ability

5'0.’_:355 .avmgsa

If (x;, y;). i = 1, ..., 7 are the ranks of the variables X, Y respectively such that ¥ (x; —
yi)z = 14, then the rank correlation between two variables is

(xp yi) i =1, ., 7 0 XY 00 ot SRTPaue TPjos oins) (X, — ¥:)? = 14 eond,
€5 Toc) DUTPRY T70500 RaIPnoe)ocese
Options :

.
1. & 0.7

, # 0.60



3 % 050

4 % 040

Question Number : 147 Question Id : 496901153 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Statistical Ability

aueqa;,s avmgsa

When three cards are drawn at random from a well shuffled pack of 52 cards. the
probability of getting at least one spade card is

&), S0 52 D8 DG Q05 O 86 Aoc. ARGy ST 3 DY A8 VR BRI,

500 2l QR DE dwE), STociier 02T
Options :
703

| % 1700

821

). % 1700

947

3. % 1700

Q97

4 1700

Question Number : 148 Question Id : 496901154 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Statistical Ability

.aw.«_uss &mgﬁa

If an integer 1s chosen at random from the first 125 natural numbers, then the probability
that it 1s divisible by 6 but not by 8 i3

D0GE 125 Ve Dofe AoC w8 QFPos ) 01 Gy S0 D08 LD, 96 6 0
ZPHODRCIBT, 8 B 2PNoDLEID T G0l VLTS

Options :

|« 3/25

, % 425

22/25

4 ® 21725

Question Number : 149 Question Id : 496901155 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Statistical Ability

3'0.‘;)55 .%vmgsa

A die 1s cast and a coin 15 tossed. The probability of getting at least 4 on the die and head
on the coin is

w8 DS 80 andain ws TEPD) HDODT. €9 08 2 £D00 4 H0 pdoin T
2 &5y Tod Doy
Options :

L% 1/3

2'_/1-4

;o 16

| B

4w L

Question Number : 150 Question Id : 496901156 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Statistical Ability

a’c.«pés &mgﬁa

The probability that a non-leap year should have 53 Saturdays is

D2y DoDBy00 5D 28 DodeGoes 53 FDTCDVED G0l WD

Options :
1 M7
2. % 6/7
3 % 217

L 17
4.

Communication Ability

Section Id : 4969013
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 38
Number of Questions to be attempted : 38
Section Marks : 50
Display Number Panel : Yes

Group All Questions : Yes



Mark As Answered Required? : Yes

Sub-Section Number : 1
Sub-Section Id : 49690110
Question Shuffling Allowed : Yes

Question Number : 151 Question Id : 496901157 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Choose the correct meaning of the word given:
Alacrity

Options :

Laziness
1. %

, % Smoothness

3 % Roughness

Eagermness
4.4 TF

Question Number : 152 Question Id : 496901158 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct meaning of the word given:
Beguile
Options :

| ® Belie

5 @ Desert

3 Decerve

4 ® Deny

Question Number : 153 Question Id : 496901159 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Choose the correct meaning of the word given:

Abscond
Options :
L% apprehend

5 @ emerge

- punish



4 escape

Question Number : 154 Question Id : 496901160 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Choose the correct meaning of the word given:

Perpetual
Options :
L% fleeting

) brief

3 % limited

continuous
4.

Question Number : 155 Question Id : 496901161 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct meaning of the word given:

Insolvent
Options :
| w comupt

>« banlsupt

3 % indissoluble

4% interfering

Question Number : 156 Question Id : 496901162 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct meaning of the word given:

Proliferate
Options :
destroy
1. %

provoke
2. W



3 % prevent

propogate
4.

Question Number : 157 Question Id : 496901163 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Fill in the blank choosing the correct word:
Raju’s changed behavior might his relationship with his wife.
Options :

L jeopardize

) ® gamble

3 % plunge

4 % misk

Question Number : 158 Question Id : 496901164 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Fill in the blank choosing the correct word:

Iwon't put with his senseless talk anymore.
Options :
| % out

2331'11

3. W
4 % along

Question Number : 159 Question Id : 496901165 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Fill in the blank choosing the correct word:

Regarding the poet’s year of birth, there is no among scholars.
Options :
| Unanimity

5 % anonymity

equanimity



4 % singularity

Question Number : 160 Question Id : 496901166 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Fill in the blank choosing the correct word:
The ability to sing melodiously is a‘an asset,
Options :

adverse

1. ®

) % worthless

3 # valueless

4 priceless

Question Number : 161 Question Id : 496901167 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Choose the correct answer:

A very large and expensive computer capable of supporting thousands of users at the same
time.

Options :

L Bulk data processor

) Mainframe

3 % Server

4 # Workstation

Question Number : 162 Question Id : 496901168 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Choose the correct answer:
A programme that communicates with a web server and displays web pages

Options :

|« Browser

5 # Portal

3 # Website



4% Gateway

Question Number : 163 Question Id : 496901169 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct answer:

An automated test to tell computers and humans apart is known as
Options :

Login

2.« CAPTCHA
3 % Cookie

Firewall
4%

Question Number : 164 Question Id : 496901170 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Choose the correct answer:
The device used to connect a LAN and WAN is
Options :
Bridge

) Router

3 ® Switch

L% Hub

Question Number : 165 Question Id : 496901171 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct answer:

The file that contains all the data relevant for an application is
Options :
Master file

5 % output file

transaction file



4 % backup file

Question Number : 166 Question Id : 496901172 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct answer:

In stock market when share prices are on the rise over a period of tume. it 15 called

Options :
Bear market
1. %

Black swan market
2. ®

Bull market
3.¢

Rocket market

Question Number : 167 Question Id : 496901173 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Choose the correct answer:
DAC stands for

Options :

Data-to-Access Converter
1. %

) ® Database Access Converter

Digital-to-Analog Converter
3. ¢

" Double Access Converter
4.

Question Number : 168 Question Id : 496901174 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Choose the correct answer:
In business English CPU stands for

Options :

Cost Paying Unit

]. ®

5 % Capital Per Unit



3 Cost Per Unit

4% Central Processing Unit

Question Number : 169 Question Id : 496901175 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Choose the correct answer:
In banking NEFT means
Options :
National Elective Financial Transfer

1. #

Non Electronic Funds Transfer

3 % National Electronic Funds Trading

4 National Electronic Funds Transfer

Question Number : 170 Question Id : 496901176 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Choose the correct answer:
Blue sky thinking refers to
Options :
brain washing

1. %

brain storming

brain dram

brain death

Question Number : 171 Question Id : 496901177 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Choose the correct answer:

Observation is the bottom line of scientific enquiry.

The vnderlined phrase means
Options :

L% the least important feature



the last line
2. %

the most important feature
3. ¢

the last important feature
4. *®

Question Number : 172 Question Id : 496901178 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct answer:

*Radha walked as though she were a dancer”.

The sentence umplies that Radha

Options :

15 a dancer
1. %

, % usedtobeadancer

walked like a dancer

being a dancer. walked like one

Question Number : 173 Question Id : 496901179 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct answer:

This dress doesn’t fit me well. I should have tried it before buying it.
Options :

out
1. %

off
2. %

on

down
4. %

Question Number : 174 Question Id : 496901180 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct answer:

Priya does not resemble her mother. She takes her father



Options :

1. % UP

5 % out of
after

3.9

4% from

Question Number : 175 Question Id : 496901181 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct answer:
The house he lives in now is a far erv from the one he once lived i,

The underlined phrase means
Options :

| % distant from

different from

far more noisy than
3. %

more quiet and secluded than
4..%

Question Number : 176 Question Id : 496901182 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct answer:
Ben said to me. “How old are you?”

Identify the correct equivalent of this sentence in reported speech.
Options :

L% Ben said to me that how old I was

) ® Ben asked me how old are you

3 o Ben asked me how old I was

4% Ben asked me how old was I

Question Number : 177 Question Id : 496901183 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0
Choose the correct answer:

Imade awful mistake while counting the money.

Options :

| # no article

2. % 8

5 % WY

4. an

Question Number : 178 Question Id : 496901184 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Fill in the blanks with the appropriate phrase/verb/preposition:
I didn’t say anything. until she talking

Options :

| % has finished
5 w will have finished

3 % shall have finished

4 had finished

Question Number : 179 Question Id : 496901185 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Fill in the blanks with the appropriate phrase/verb/preposition:
He his cool. with great difficulty.

Options :
could keep

could tolerate
2. %

could be kept
3. %

could not tolerate

Question Number : 180 Question Id : 496901186 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Fill in the blanks with the appropriate phrase/verb/preposition:
Please help me.
Options :
shall you?

]. #®

will you?
2. ¥

3 % would you?

4% should you?

Question Number : 181 Question Id : 496901187 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Fill in the blanks with the appropriate phrase/verb/preposition:
The nations had to act in accordance the provisions of the treaty.

Options :

bv
1.®& °

) o with

from

Question Number : 182 Question Id : 496901188 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Fill in the blanks with the appropriate phrase/verb/preposition:
They were asked to refrain violence.

Options :

| w for

2 u Y

5 @ bpon

from
4. F

Question Number : 183 Question Id : 496901189 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0

Fill in the blanks with the appropriate phrase/verb/preposition:
Let us exercise regularly we can get fit,

Options :

| # by that

2. #® soasto

3 % for that

4 so that

Question Number : 184 Question Id : 496901190 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Fill in the blanks with the appropriate phrase/verb/preposition:
Raju did not like it when his classmates him

Options :

| ¢ jeered at

jeerad
2. %
jeered on
s

jeered about
4. %

Question Number : 185 Question Id : 496901191 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Fill in the blanks with the appropriate phrase/verb/preposition:
The young boy was infatuated his classmate.

Options :
1. % by

) with
3 # for

4 % about

Sub-Section Number : 2
Sub-Section Id : 49690111
Question Shuffling Allowed : Yes



Question Id : 496901192 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (186 to 190)
Question Label : Comprehension

Read the following passage and answer guestions

Before the excavation of Harappan cities, scholars thought that Indian civilization
had begun in the Ganga valley as Aryan immigrants from Persia and central Asia
populated the region around 1250 BCE. The discovery of ancient Harappan cities
unsettled that conception and moved the timeline back another 1500 years. situating the
Indus Valley Civilization in an entirely different environmental context.

Harappa was a fortified city in modern-day Pakistan and is believed to have been
home to as many as 23.500 residents living in sculpted houses with flat roofs made of red
sand and clay. The city spread over 150 hectares — 370 acres — and had fortified
administrative and religious centres of the same type used in Mohenjo-Daro. Both cities
had similar organization and featured citadels, central areas in a city that were heavily
fortified — protected with defensive military structures. Additionally, both cities were
situated along the Indus River. This structure would have allowed those at the higher
levels of the buildings in either city to look down the river and see into the distance.

Sub questions

Question Number : 186 Question Id : 496901193 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which idea is NOT part of the original assumption about the Indian Civilization?
Options :
| % Itallbegan in the ganga valley

_— Aryan immigrants laid the founding civilization

" The founding Indian civilization was laid around 1250 BCE

4 Indigenous civilizations existed prior to Aryan immigration

Question Number : 187 Question Id : 496901194 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
In “unsettled that coneeption” the underlined word means
Options :

_ changed
iy g

) % proved
3 % endorsed
4w solved

Question Number : 188 Question Id : 496901195 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

To which location did the Harrappan excavations shift the founding civilization
Options :

| # Narmada valley
Ganga valley
- _

- Indus valley

4, % Persia

Question Number : 189 Question Id : 496901196 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following deseriptions is NOT correct about the cities, Harrapa and
Mohenjo-Daro?

Options :

L% They had fortified administrative centres

5 % They had religious centres

3 ® Both the cities had featured citadels

4V Both the cities had no administrative centres

Question Number : 190 Question Id : 496901197 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The Harappa city spread over an area of
Options :

| 370 hectares

7 .
@ 370 acres

2.

3 % 150 acres

4% 250 hectares

Sub-Section Number : 3
Sub-Section Id : 49690112
Question Shuffling Allowed : Yes

Question Id : 496901198 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (191 to 195)
Question Label : Comprehension



Read the following passage and answer guestions

Two recent publications offer different assessment of the career of the famous
British nurse Florence Nightingale. A book by Anne Summers seeks to debunk the
idealizations and present a reality at odds with Nightingale's heroic reputation. According
to Summers, Nightingale’s importance during the Crimean War has been exaggerated: not
until near the war’s end did she become supervisor of the female nurses. Additionally.
Summers writes that the contribution of the nurses to the relief of the wounded was at best
marginal. The prevailing problems of military medicine were caused by army
organizational practices, and the addition of a few nurses to the medical staff could be no
more than symbolic. Nightingale’s place in the national pantheon. Summers asserts. is
largely due to the propagandistic efforts of contemporary news reporters.

By contrast, the editors of a new volume of Nightingale’s letters view Nightingale
as a person who significantly influenced not only her age but also subsequent generations.
They highlight her ongoing efforts to reform sanitary conditions after the war. For
example, when she learned that peacetime living conditions i British barracks were so
horrible that the death rate of enlisted men far exceeded that of neighbouring civilian
populations. she succeeded in persuading the government to establish a Royal commaission
on the Health of the Army. She used sums raised through public contributions to found a
nurses’ training hospital in London. Even in administrative matters. the editors assert. her
practical intelligence was formidable: as recently as 1947 the British Army’s medical
services were still using the cost-accounting system she had devised in the 1860’s.

Sub questions

Question Number : 191 Question Id : 496901199 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Anne Summers’ book attempts to establish that Florence Nightingale's heroic reputation
1s

Options :
totally deserving

) % under-rated

 at odds with reality
3.¥

totally undeserving

Question Number : 192 Question Id : 496901200 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

According to Anne Summers, Nightingale occupied a place in the British National
Pantheon due to

Options :
L« propagandist effort of the press

government’s indulgence
2. %

5 % self-publicity



recommendation
4. ®

Question Number : 193 Question Id : 496901201 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The word *barracks’ means
Options :

| # back waters

, # hospitals

3 % population

4 housing for soldiers

Question Number : 194 Question Id : 496901202 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Nightingale raised funds, through public contributions, to establish a
Options :
| # Royal Commission on the Health of the Army

) o Training School for Nurses

Military Cafeteria

Rehabilitation Centre for the Wounded
4.%

Question Number : 195 Question Id : 496901203 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The editors of the new volume assert that Nightingale had also shown the lasting practical
intelligence in devising a

Options :
Dress code for nurses

New pension scheme

Cost-accounting system

3.9

4 % Dress code for doctors

Sub-Section Number : 4
Sub-Section Id : 49690113

Question Shuffling Allowed : Yes



Question Id : 496901204 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (196 to 200)
Question Label : Comprehension

Read the following passage and answer questions

How you talk. along with other kinds of social codes such as how you dress or
how you behave, is an important way of displaying who you are: in other words, of
indicating social identity. This question of identity, who we are, how we perceive
ourselves and how others perceive us. is not defined simply by factors such as where we
were bom and brought up. who our parents are or were, and which socio-sconomic group
we happen to belong to. Identity, whether it is on an individual, social or institutional
level. is something which we are constantly building and negotiating all our lives through
our interaction with others. Identity is also multifaceted: people switch into different roles
at different times i different situations. and each of those contexts may require a shift into
different. sometimes contlicting, identities for the people involved. One of the ways in
which we accomplish and display this shift is through the language we use,

Sub questions

Question Number : 196 Question Id : 496901205 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following does not indicate one’s social identity?
Options :
dressing
1. %

5 ® talking

listening

behaviour

Question Number : 197 Question Id : 496901206 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

According to the passage, identity is
Options :

always determined by one’s place of birth

) % unchanging

3 % dependent on how one perceives the world

~ constantly negotiable

Question Number : 198 Question Id : 496901207 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Identify the Incorrect statement about identity?
Options :

| % It is constantly changing

5 w Itis multifaceted

3 % Interactions with others help one build one’s identity

4o I is fixed and permanent.

Question Number : 199 Question Id : 496901208 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In “conflicting identities”. the word ‘conflicting” means

Options :
" adverse

5 % unfavourable

opposing
3.¢¥

4 % harmonious

Question Number : 200 Question Id : 496901209 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
What serves as a means to display the shift of our identities in different contexts?
Options :

1% behaviour
5  language

dressing
3. % B
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